ASTRALPOOL |\

RECOGECORCHERAS ESCAMOTEABLE
IN-DECK LANE STORAGE HATCH

Cod. 15842

16

LISTA DE COMPONENTES / LIST OF COMPONENT PARTS

15

14

13

15842E201 09.04

POS | CANT DENOMINACION / DESCRIPTION
ITEM| QTY
1 1 Tapa / Cover
2 1 Tirador tapa / Cover puller
3 3 Pasador DIN-1481 @3x28 / Pin
4 1 Junta / Seal
5 1 Rueda / Wheel
6 1 Eje rueda / Wheel shaft
7 1 Soporte rueda / Wheel support
8 2 Tuerca DIN-934 M6 / Nut
9 2 Arandela DIN-127 @6 / Washer
10 1 Tornillo DIN-85 M4x8 / Screw
11 1 Arandela DIN-6798 @4 / Washer
12 1 Cuerpo / Body
13 1 Soporte basculante / Bracket
14 2 Tornillo DIN-964 M6x10 / Screw
12 15 2 Tuerca DIN-985 M8 / Nut
16 2 Tornillo DIN-933 M8x16 / Screw

Made in EU

NIF ES A 08246274

WE RESERVE THE RIGHT TO CHANGE ALL OR PART OF THE FEATURES OF THE ARTICLES OR CONTENTS OF THIS DOCUMENT, WITHOUT PRIOR NOTICE. / NOUS RESERVONS LE DROIT DE MODIFIER TOTALEMENT OU EN PARTIE LES CARACTERISTIQUES DE NOS ARTICLES OU LE CONTENU DE CE DOCUMENT SANS PRE-AVIS.
NOS RESERVAMOS EL DERECHO DE CAMBIAR TOTAL O PARCIALMENTE LAS CARACTERISTICAS DE NUESTROS ARTICULOS O EL CONTENIDO DE ESTE DOCUMENTO SIN PREVIO AVISO. / CI RISERVIAMO IL DIRITTO DI CAMBIARE TOTALMENTE O PARZIALMENTE LES CARATTERISTICHE TECNICHE DEI NOSTRI PRODOTTIED IL CONTENUTO DI QUESTO DOCUMENTO SENSA NESSUN PREAVVISO.
WIR BEHALTEN UNS DAS RECHT VOR DIE EIGENSCHAFTEN UNSERER PRODUKTE ODER DEN INHALT DIESES PROSPEKTES TEILWEISE ODER VOLLSTANDING, OHNE VORHERIGE BENACHRICHTIGUNG ZU ANDERN. / RESERVAMO-NOS NO DIEREITO DE ALTERAR, TOTAL OU PARCIALMENTE AS CARACTERISTICAS DOS NOSSOS ATIGOS OU O CONTEUDO DESTE DOCUMENTO SEM AVISO PREVIO.



Rev.: 01

ASTRALPOOL |\ RECAMBIOS Afo: 2007
Pagina: 1/1
CODIGOS: 15842
DESCRIPCION: RECOGECORCHERA ESCAMOTEABLE
POS. CcODIGO DESCRIPCION POS. CcODIGO DESCRIPCION
1 4401080201 TIRADOR TAPA 5 4401080205 SOPORTE BASCULANTE
2 14401080202 JUNTA TAPA 6 15842R0002 TAPA
3 14401080203 RUEDA 7 15842R0100 |CUERPO
4 |4401080204 SOPORTE RUEDA




400

400x400

330x330

300

VALIDO

SOLO PARA INFORMACION

Tolerancia general: | Material AISI-316 N'peces
Denomin. =
F
Data | Nom RECOGECORCHERAS ESCAMOTEABLE ",;;”"t
Dibuixat|20.09.01| Fonoll
. Escala
Comprovat | 20.09.01}J.Morrall CONjuNt e
Codi 15842 Re§'5'°
Substitueix a: Data
Substituit per: Data






